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FRITEEETE FRRISEEETE FRRIGEEETE FR0FEETE FRAIFEETE FR2FEETE
R5 (H18~224F SR A) (H19~234F RERAT) (H20~ 244 2R 7)) (H21~25% 2R a) (H22~264F S2ER ) (H23~ 274 ZERA)
A% H18~22 H19~23 H20~24 H21~25 H22~26 H23~27
P T8 |BTE% & BAA | g |BTEM = BAA | g |BTEM = BAA | g |BTEM = BAA | g |BTEM = BAA | g |BTEM = BAA |, g
(A) | BHER | (%) (A) | BHER | (%) (A) | BHER | (%) (A) | BHER | (%) (A) | BHER | (%) (A) | BHEH (%)
(8 (8 (8 (8 (8 (8
& B 0 41 32 78.0 9 95 55 57.9 40 4 51.7 43 107 7 5 67 2 90
| 2 = it 0 45 29 64.4 16 79 58 21 5 7 10; 5 53.7 0 5 0 8 51.0 4
Ei P 6 - - - - - - - 25.8 16.7 0 28.1 40 4 35.0
F = 40 28 4 4 5 39 6 3 0 4 2 4 4 4
® =| 230 178 152 26 282 217 5 2 204 2 2 0 29 2 7 26 204 4
— [ 5 0 2 0 73 7 7 1 104 6 7 4
#% R B 3 - 0 0 0 7 43.6 0 2 2.0 4 4 6 4 27.
#; B - 0 5 5 1 0.6 4 1 . 4 4 4 0 43.
% R| 15 2 2 0 2 8.7 7 4. 7 1 4 45. 7
5 I - - - - - - - - - 9 4 . 7 6 16. 1
| 11 [#% il - - - - - - - - - 7 29.6 6 4 0 7 0 58. 7
% B B 0 9 3 79.3 6 65 4 4 4 4 8 7 474 4
= #| 160 134 114 A 20 189 1 4 1 1 7 192 14 4 20! 167 5
4|x I 0 7 0 4 77 4 58.4 57.9 4 2 104 64 40 0
L] B 0 0 0.6 12 0 64 2 6 6 0 5
| 16 [& ] - H 0 8 7 5.0 6.7 4 40.0 9 8 27.8 3
7 |6 w24 1 50.0 6 4 12 0.0 4 1 47.1 7 17 45 1 48.7 0
[ Bl 2 1 | 750 3 9 16 2 4 24 8.5 1 4 4 4 2 47. 4 44 1 27.3
& i - - - - - 0 7 .0 0.0 0 4 2 28. 8.7
N | 45 14 12 H 2 3 418 4 4 0.6 44 1 64 7 1 5 48. 4 495 4
] ES - 4 2 50.0 2 4 16.0 2 1 5.7 9 4 7.5 0
A - - - - - 10.3 2 2 3 . . 6.7 5
| 23 |3 B[ 16 - - - - 10 52.6 4 4 4 10 40.0 4 .0 3.3 2
4 |rmmarmnx) 40 41 24| 585 17 39 2. 3. . 40 36 4 39 [1766.0 0
KB 4 3T 30 27 24 17889 3 41 57.7 30 2 44, 37 56. 32 4 3 0.0
6 |dt B % B s - - - - - - - - 6. 4 474 7 0 3.3
| 27 [= 4t = B - - - - - 4 10 4 24 2. 7 2 6 3.3
8 |8 [ - 7 5 71.4 2 0 3 .0 7 7.3 8 7 0.0 0
| 29 [x = - - - - - 4 16 .0 48 4 .0 7 10 X 10 4 4. 9
| 30 [4& 1% - - - - - 7 10 0 27 .2 2 4 7 4. 4 4 7 4 1. 40
|31 (8% @ & - 2 6.4 14 4 6.7 45 .7 4 4 3 6.4 44 10 4 1.
| 32 [& 1L = B - 4 7.1 4 1 4.4 4 0 4.0 6 9 16.1 47 4 8 . 0.
|33 (% F Bl 30 0 2 8.0 2 42 1 7 7 4 40.7 47 27 57.4 20 4 21 48.8 1 1.4
| 34 [ FE & 2| 220 1 13 8.0 3 234 173 739 2 179 749 0 232 174 0750 8 240 187 224 178 [1795 4
|36 B 2 % - 7 4.3 9. 0 47 7 4.9 40 7 24.3 14. 0
| 36 [EA e 6.8 1 4 0 4 4 10 25. 6 4.0 0 20.0 4 7 4
7 |E = 40 .5 1 8 46 .0 1 48 47. 4 7 9. 9 4 485 1 4 4 5
| 38 |Bk % - 4.0 47 2 46. 3 4. 4 1 8. 9 22.0 4 4 7 0
9 (& &l 28 4 1.9 2 42 0 47. 0 7. 2 6 0. 0 .7 46 5 1
40 |&Il i 28 4 | 857 40 47. 4 438 7 0 0.0 4 40 40.0 4 40 7 42. 3
H X & Xk - 25.0 1 0 16. 17.1 9 8.3 0 10.0 7 8 6 15.8 32
42 |tk %[ 200 24 18 76.7 5 2 143 117656 2 192 740 7 2 192 17698 278 19 279 204 0780 75|
| 43 |= i - 0.0 4 7.4 1 4 .0 40 7 4 7.7 3 4 0.8
| 44 | * - 4 4.2 4 6 4.3 3 44 4 0 .0 4 8. 2 7 2.4
45 |8 E ) 7.9 9 4 .0 7 2 4 3 .7 0. 7 7.7 0
| 46 [3& B 0 .0 10 4.0 7 0 7 0 41.7 4 2 7. 5 0 4.9 6
| 47 |BA &l 40 7 4.2 174 .9 7 183 . 1 107 4.0 9 1 47,4 10! 1 8 47.6 7
48 |89 35 % Iz - 8 6.7 49 .7 40 401 4 4 8 14 4 4 0. 5 0 7 4.0 4
| 49 |3 E - 0 .0 7 4 421 74 . 4 4 26 40.6 2 8 24 41.4 4
0B % M| 200 0 .0 246 1 0 271 14 4. 124 256 140 4.7 1 2 1 101 240 152
| 51 (= = Ji - 5 0 .7 4 4.7 4 6. 5 6.7 23 23 9 4
2 B W % IR - 7 9 .9 27 6 2. 40 2. 5 9.2 10 24 7 . 7
| 53 |#A % 48 K - - - - - 47 7 6. 0 4 4. 4 0 7.2 4 X 49 49 .4 40
| 54 (1L 3 = [z - 12 9 75.0 3 5 2 4. 3 9. 14 4 42.4 1 1 46. 4 3 X 14
5 | 41| 20 19 16 84.2 3 26 1 42. 5 4 18 1750 0 741 4 1 45, 0 1 0 9
| 56 |& 40 % B - - - - - - - - - 4 4.2 2 18. 2 17
7 | = - - - - - 1 9 42. 2 19.4 9 42. 4 1 4 5
8 [F w20 10 6 60.0 7 16 4 1 44, 4 47 1 31. 4 1 2 4 22 4 0
9 |4 71 - 4 80.0 1 7 4 1 32. 1 8 18.4 7 24. 10 2
| 60 = & 7 % - 0 0.0 47 3 . 4 0 48 4 44 40 0 4 . 7
1|m & #| 70 9 60 65.9 3 132 7 0.8 14 6. 4 140 5 41.4 2 1 6 4.5 14 5 37.7 1
| 62|37 & #8| 70 10 62 59.0 4 132 3 40.2 9 14 6 4 135 7 .6 4 1 50 .2 12 5. 41. 4
| 63 |&E = - - - - - - - - - . 44 1 25.0 4 7 .0 4 4
4| X B % B - - - - 6 . 4 4 5 1. 41 4. 1 4 2 2 4
| 65 (A8 | 40 5 31 0.8 20 130 4 32. 124 44 5. 0 110 4 7. 117 3 7 78 2 2
| 66 [ | - 4 7 2 X 4. 7 3 4 3 4. 2 23 4.
| 67 (B & = kx| 30 6! 39 27 1 54 47. 1 4 41. 7 117 0 427 34 . 100 3 .0 7
8 |F [ BT 1 10 9 12 0. 1 25. 4 0 0 28.6 0 4 20 1. 44 47 14 .8 3
| 69 [# 5 = [z - 1 2 4 4 0. 4 18.2 2 1 4. 2 21 2 5 9
0 |t & 1 th - 1 7 1 . 7 0 0.0 6 0 0.0 4 0 .0 4
N|E & &8 - - - - - 10 34. 1 4.4 27 29.6 11 0
T2|A B % - 4 2 50.0 . 4 4 1 9. 0 .7 3 0
73 |& A% IR - 4 75.0 44 1 25.0 4 5 4.7 4 0 3. 2 43 18.6 10 2
74 |#8 B 20 4 80.0 21 1 52.4 0 9 14 48.3 1 9 0.0 9 11 455 3 . 8
H | 2,197 | 2,176 | 1518 69.8 658 | 4,418 | 2,188 495 | 2230 | 4911 2273 463 | 2638 | 4994 2355 472 | 2639 | 4792 2,261 472 | 2531 | 4535 2,200 485 | 2335
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テキストボックス
資料3-10


BEEEETEOTNSEFTOAARBRESHIRER

FR2FEETE FRRAFEETE FRSFEETE FER26EEETE FERIEEETE FER2BEEETE FEROEEBTE
R5 (H24~ 284 2R A]) (H25~ 294F 2ERA) (H26 ~ 304F 2 ERA]) (H27 ~R14E 52ERA) (H28 ~R24F 2EX A) (H29 ~R34F R ERAT) (H30~R44E ZHERT)
A% H24~28 H25~29 H26~30 H27~R1 H28~R2 H29~R3 H30~R4
P w8 |BTE% & BAA | g |BTEM = BAA | g |BTEM = BAA | g |BTEM = BAA | g |BTEM = BAA | g |BTEM = BAA | g |BTEM = BAA |, g
(A) | &HEH| (%) (A) | &HES| (%) (A) | &HEH| (%) (A) | &HEH| (%) (A) | &HEH| (%) (A) | BHEH (%) (A) | BHEH (%)
(8) (8) (8) (8) (8) (8) (8)
& B 0 7 4 62.8 29 70 44 2.9 70 41 8.6 8 3 2.1 49 28 57.1 1 45 0 444 2 9 2 4 17
| 2 = it 0 4 48.3 46 7 0.7 0 2 64.0 7 2 7.6 2 0 6 7 65.4 9 .4
i P 6 0 0 24 0.0 2 0 47.6 3 1.7 7 0 7 44.4 7 4 9 1
F = 40 1 1 5 42 9.0 44 6.8 0 1 40.0 7 48.1 4 7 46.7
= =| 230 24 182 - 0 224 1 1 1 - 180 14 1 4 163 1 - 7 1 12 4
- i 5 0 74 2 6 6 1 66 10
#% R B 3 - 1 1 1.6 1 4.8 4 44 45. 4 6 1 0.0 1 1 4 42.9 1 4 235 13
#; B - 4 7.5 4 5.0 . 0 0.0 4 0 - - - -
% R| 15 0 0.0 4 5 7.8 4 42. 7 5.3 1 4 7 .6 6 2 333 4
[H I - 4 . 4 7 46.7 2 41. 7 2 5.0 14 7 0.0 4 - - - -
| 11 |& il - 4 4 . 0 1 14.3 7 42.9 4 4 0.0 5 0.0 0 0.0 2
% B B 0 4 4 3.6 9 7 43 64.2 4 [ 62.7 7 4 62.5 47 4 7
= #| 160 164 1 8 160 130 15. 128 14 114 4 139 13 114 1 1 0
4|x I 0 0 4 7 3 9 62 65.3 65 7 9 4 70.4 6
L] B 0 6 0 6 0 7 57 70 7 4 68.4 2 4 5
| 16 | & izl - 0.0 0 3 4 4 .6 0 0.0 - - - -
7 |6 w24 4 1 41.9 1 41.0 2 3 .7 2 2 1 Xl 1 1 6 50.0 17 9 52.9 8
I Bl 20 1 41.7 1 3 3 27 1 .6 1 1 1 4 1 1 8 66.7 4 16 [ 50.0 8
& i - 4 4 40.0 .3 7 0 0.0 2 - - - -
N | 45 4 4 . 4 3 64.4 2 6 3 0.0 2 4 2 0.9 1 40 1 2 1 7 31 24 7
] ES - 43. 10 47.6 1 2.2 3.3 1 4 4 0 9 3 33.3 6
AN - 3 23. 0 2 25.0 7.5 5 40.0 4 4 0.0 2 - - - -
| 23 |3 B[ 16 3 23. 0 7 8.3 1 0.0 7 1 41. 0 4 6 4 6.7 2
4 |wassieasx) 40 40 17678 3 5 30 4. 46 2 . 0 60 2 3 1 14 40 24 0.0 16
X BR 2 3| 30 2 .9 4 2 48.1 42 20 47. 30 1 . 1 27 1 1 43, 9 16 6 7.5 10
6 [ & = E|sesr 2 3 8.3 17 4 3. . 7 1 0.0 1 4 0 0.0 4
| 27 [= 4t = B - 4 .0 20.0 0. 0.0 1 - - - - - - - -
8 |8 & - X 0 0.0 4 [ 1000 0 2 0 0.0 2 - - -
| 29 | X = - 4 4 . 7 4 6 .0 1 1 1 X 1 - - - - - - - -
| 30 |1& 1% - . 4 4 . 7. .7 5 2 40.0 3 - - - -
|31 (8% @ & - 4 1. 2 4. 0 0.0 2 .7 4 4 - - - - - - - -
| 32 |& 1 % b= - 6.4 4 . 0 5 385 41.7 12 11 4 36.4 7 7 4 57.1
|33 (% F Bl 30 11 29.7 1 46.9 7 44 20 455 24 4 1 32.4 23 20 1 17 35.3 1 1 455
| 34 [ FE & 2| 220 219 177 4 2 171 787 2 17 4 196 156 17956 40 20 4 175 14 30 15 12 3
|36 B 2 % - 1 2 9.5 . 6 38. 9 2.2 7 7 42.9 4 0.0
| 36 |En e 0 5.0 4 2. 4 0 0.0 5 0.0 1 [ 91 1
7 |E = 40 1 4 7.4 4 5 44 4 47. 7 0 2 5.0 0 9 7.9 3 29. 2.
| 38 |Bk % - 0 2 4.0 8 7 . 7. 2 1 3.8 1 7 2 1.8
9 (& &l 28 4 1 4.4 4 47 0 0.8 7 0 4 0.0 9 4 2 6.7 0 62.5
40 |&l fii| 28 7 47.2 9 2 1 0.0 0 1 3.3 4 7 10 47. 1 1 1 68.4
41| K| X IE - 7 3.7 6 [] 1.1 4 14.3 24 4.8 1 2. 7 0 0.0
42 |tk %[ 200 2 203 [T 0 250 17 2 18 6. 1 145 0750 4 22 8 20 117 6. 8 16 99 61.5 6.
| 43 |= i - 10. 7 0.0 1 6.7 Kl 0.0 - - - -
| 44 | * - 7.7 1 2. 5 7 40.0 4 1 5.0 3
45 |8 E ) 6 1 19.0 4 4 7. 1 .7 9 1 42.9 1 27 0 7.0 17
| 46 [3& B 0 0 43. 4 1 30. 41 44. 4 1 4.5 0.0 18 0 5.6 [
| 47 (B8 &l 40 197 41. 1 1 7 44, 0 1 6 45. 7 3 41.3 4 4 2 42.4 3 48 2 45.8 26
48 |89 35 % Iz - 4 23, 0. 26 4 17.4 2 10.0 4 4 0 0.0 - - - -
| 49 |52 E - 28.6 4 2 9. 47 4 14 31.1 14 438 31 2 1 5 29.4 1 17 5 29.4 1
0|8 # M| 200 2 168 | 632 9 284 19 9. 24 190 17766 2 16 18 5 14 104 3 11 80 3
| 51 (= = Ji - 4 .0 1 7.5 .7 0 4 0 0.0 1 4 1 25.0
2 B W % IR - . 4 H .0 1 8.2 0 0.0 3 4 1 25.0
| 53 |#A % 48 K - 1 . 2 2 15.6 2 2 1 7.6 14 1 1 1 30.0 7 4 0 0.0 4
| 54 (1L 3 = [z - 4 3.3 1 7 1 58.8 7 1 8 5.0 1 25.0 1 20.0 4
5 | 41| 20 14 737 4 1 H 2 . 5 40.0 4 2 66.7 1
| 56 |2 %0 % B= - 0 0.0 33. 6 0. 6 7 0.0 - - - -
7 | = - 5 6. 4 0 2 3. 4 40.0 7 2 40.0 2 50.0 1
8 [F w20 15 3. 4 1 4 1 3 1 1.3 2 7 4 57.1 7 2
9 |4 51 - 10 0. 7 9 2 4 4 2 2 5.0 9 7 71.4 1 4 36.4 7
| 60 |5 #B A % - 2 3. . 7 7 42. 4 0.0 6 . 10 0.0 0 0.0
1@ & 4] 70 34 7.0 7 3 0.0 [ 2 .0 29 4 17 5.4 27 1 44.4 1 43 2 48.8 2 4 25 52.1 2
| 62|31 & f#8| 70 1 44 .3 104 3 7.5 7 2 .9 44 6 29 475 47 1 27.7 34 37 21.6 2 30 15 50.0 1
| 63 |& s - .7 4 3.3 2 20 20 7 5.0 1.1 3 0 0.0 - - - -
4 | K IR = bR - 7 0.0 4 44.4 6 6.7 0.0 - - - - - - - -
| 65 |BH | 40 2 4 0 8 1 4 5. 16 3 30 0.0 2 3 1 6.4 2 2 11 42.3 15 2 40.9 13
| 66 |3f | - 3 [] 4 2 14 1 4 4 5.0 7.5 0 0.0 5 60.0 2
| 67 (B & = kx| 30 30 7. 0 0 2 7. 44 4 1 3 2 2.1 1 2 1.0 20 1 8 44.4 10 1 6.3 7
8 | [ BT 5 7. 25 6.0 16 24 10 41. 14 1 4 0.8 1 0.0 6 1 6 54.5 5 1 455 6
| 69 |# B =% Bz - 1 7. 10 0.0 7 1 20.0 4 0 0.0 - - - - - - - - - - - -
0 |88 8% % % - 0 0.0 - - - - - - - - - - - - - - - - - - - - - - - -
NI|E B & & - 1 3 7. 4 21.1 5 1 6.7 10 10 3 30.0 7 1 20.0 4 5 1 20.0 4 - - - -
T2|A B % - 1 1. 4 0 0.0 4 6.7 3 0 0.0 0 0.0 5 - - - - 1 0 0.0
73 |& A% IR - 1 4 3. 1 6 5 31.3 1 7.5 9 5 55.6 4 1 2 182 9 6 3 50.0 3 14 8 57.1
74 |#8 B 20 20 6 0.0 14 2 4 33.3 8 1 455 7 5 2 2 22.2 7 5 2 40.0 3 6 1 16.7
H | 2,197 | 3937 1937 492 | 2000 | 3459 | 1857 537 | 1602 | 3037 | 1714 56.4 | 1323 | 2511 | 1442 57.4 | 1069 | 2190 | 1254 57.3 936 | 1,872 | 1,144 61.1 728 | 1,622 | 1,035 63.8 587




EFEEETEOTHSEETORERBRERIKR
FRIVEEETE SHTEEBTE FHEEETE FHREEETE RHAEEETE RHSEEBTPEE
R5 (R1~R54 BRI (R2~R64E S ERAI) (R3~R74 BRI (R4~ RBE BRI (R5~R9LE BRI (R5~R9LE SZERA)

A ~ ~ ~ R4 R54E RSE amE amE

= w8 |eTEm NSRE s oA |, leTEg RIRE Boa |, [ETER RIRF Boa |, o |ETER DY B/A | A o |[ETEH . B/A | ,_ roe | OHE N pog || mog | O

rEE (a1 | BRI Ty ATB|Tra) BEER o) ATE \Tra BEEND T | ATB|Tiay BEEEG o) | ATE T BEER o) | ATB lages FER |apa|sees TR

& B 0 2| 564 17 ] 2] 429 1 9 63.2 7 524 10 18 10 8 15 27 .

| 2 |&® i 0 0 2 7 7 H 40 11 215 9 28. 10 23] 43
E P 6 7 4 0 4 62.5 1 7 70 M2 0 43. 5 .
F 3R 50.0 13.3 1 1 4 375 40. 1 4] 250
® =| 230 14 114 2 1 23 144 9 4 14 9 44 124 4 10 70. 94 13 70.7
— [ 5 7 66 1 10 84 6 1 74 5 17 4 5 2 7 71 60 72| 833
#% R B 3 - 375 0 9 375 0 0.0 3 1 0 0.0 0.0 - - -
# B - - - - - - - - - - - - - - - - - - E - g E - E
% BR[| 15 5 4 1 5 2 3 2 1 4 0 0.0 4 9 3 333 6 6/ 500 - - -
= M - - - - - - - - - - - - - - - - - - g - g . - .
| 11 [#% il - 2 0l 00] - - - - - - - - - - - - - - - - - - - - -
% B B 0 7 64.7 2 22 31 17 54.8 4 1 35.5 0 26 7 24] 70 0 64.5
= #| 160 133 1 1 104 129 10 1 10 0 117 10 7 4 1 79.7
4% 7 0 40 62.5 4 32 71.1 74 5 4 2 75 4 72| 6 7 50.9
L] =l 0 67 71.6 6 5. 57 3 4 44 0 53 50| 620 7 4 56.3
| 16 [& izl - 1 0 0.0 - - ] - - - - - - - - - - - - - -
7 |k w24 16 8| 500 8 6 2 14 12 2 13 6 462 7 12 4 333 8 10| 400 7 10/ 700
= = 20 10 8| 800 12 3 25.0 9 8 4 50.0 4 5 2 40.0 3 9 5 4 8| 625 0 5 0.0
& i - - - - - - - - - - - - - - - - - - - - - - - - - -
N ] 45 23 18] 783 5 26 17 65.4 9 43 19| 442 24 34 16| 471 18 35 13 371 22 31 419 8 23] 348
B ES - 4 0 0.0 4 - - - - - - - - - - - - - - - - - - - - -
A - - - - - - - - - - - - - - - - - - - - E - E E - E
| 23 |3 | 16 6| 400 9 2 25.0 11. 0 0.0 7 4. 6 6 7 1 4 5.0
4 |wxmaaEmn 40 19 7.6 14 6 1 57.7 1 3 1 51. 1 4 6.5 2 9 2. 7 8 0 3 1 6.7
X BR 2 3| 30 4 7 0.0 7 4 1 1 4 2 0.0 7 5 7 6 4 0.0
6 |t m 1 11000 | 0 1 0 0.0 0 0.0 1 0 0.0 - - - - - - - - -
|27 |3 4t % b= - - - - - - - - - - - - - - - - - - - - E - . . - .
8 |8 [ - - - - - - - - - - - - - - - - - - - - - -
| 29 % = - - - - - - - - - - - - - - - - - - - - - - - - - -
| 30 i@ wo - - - - - - - - - - - - - - - - - - - - - - - - - -
|31 (8% @ & - - - - - - - - - - - - - - - - - - - - - -
| 32 [& i % B - 0 2 200 7 143 - - - - - - - - - - - - - - - - -
|33 (% F Bl 30 7 4 235 1 25.0 14 35.7 9 15 4 267 11 7 3 429 4 7] 429 2 6/ 333
| 34 [ FE & 3| 220 158 139 1 131 10 2 144 107 37 114 83 31 122 77 45 112|688 91 133] 684
135 2 = - - - - - - - - - - - - - - - - - - - - g - . . - .
| 36 [Eq e 0 0.0 2 222 7 10 4] 400 8 3| 315 5 5 0 0.0 5 4 0.0 0 3 0.0
7|k = 40 16 7 43.8 1 6| 400 1 3 18.8 1 19 5 263 14 9 2] 222 7 7 286 5 10| 500
| 38 [ % - 4 3] 750 0 0.0 0 0.0 - - - - - - - - - - - - -
9 |% &l 28 1 10| 556 14 5| 357 1 4] 333 10 5 500 5 14 8 6 13 615 2 28.6
40 |&l | 28 2 17 60.7 1 14 0] 714 4 1 10| 625 14 9 5 13 5, 385 [ 10/ 50.0 5 11 455
AP S &a - 0 0.0 0 0.0 - - - - - - - - - - - - - - - - -
42 |eh &| 200 12 79| 627 4 84 54 | 643 30 90 55 | 61.1 35 78 4 52.6 37 51 27 52.9 24 49| 551 47 76| 618
4 Ed & - - - - - - - - - - - - - - - - - - - - - - - - - -
|24 | 3 = = = = = = = = = = = = = = = = = = = = = = = = = =

45 |8 & 60 6 17 47.2 9 7 4 14 1 1.7 4 1 5 7 26 5 2 1 43 21

| 46 [3& fiq 0 4 6| 250 8 0| 62 6 40.9 4.4 0 14 7 4 5.7 7 4

| 47 (B8 | 40 2 18 6.3 4 7 4 1 1 3.6 2.1 9 4 14 1 3 7 7.8 19 6
48 [BH B % B= - - - - - - - - - - - - - - - - - - - - - - - - - -
| 49 |32 # - 5 4 [177800" 13 4 30.8 4 0 0.0 4 - - - - - - - - - - - - -
0B % M| 200 10 76 | 752 2 103 76| 738 27 133 94 39 149 88 |  59.1 61 133 68 | 511 65 128 53.1 84 146 575
| 51 [#® = )i - 4 0 0.0 - - - - - - - - - - - - - - - - - - - - -
A A - 2 0 0.0 2 - - - - - - - - - - - - - - - - - - - -
| 53 4R & 4% & - 2] 250 6 5 3] 600 2 7 0 0.0 7 - - - - - - - - - - - - -
EAMEEN - - - - - - - - - - - - - - - - - - - - . - . . - .
5 | % 41| 20 3 2| 667 1 5 5 111000 0 1 1 0 3 2 11667 1 4 2| 500 2 4 500 - - -
| 56 |® &0 % b= - - - - - - - - - - —H - - - - - - - - g - g . - .
7 |& = - 0 0.0 3 - - - - - - - - - - - - - - - - - - - - -
8 |7 w 20 4 3 75.0 2 0 0.0 2 3 2 H 1 10 3 30.0 7 6 0 0.0 6 6 0.0 1 1] 100.0
9 |4 4, - 4 0 0.0 4 5 0 0.0 5 - - - - - - - - - - - - - - - - -
| 60 |37 & & % - 0 0.0 2 - - - - 1 0 0.0 - - - - - - - - - - - - -
1@ & #| 70 5. 26 | 491 27 37 19| 514 18 39 20| 513 1 24 16 8 29 15 | 517 14 27| 556 10 21| 476
| 62|37 & #8| 70 1 12 632 7 20 6 300 14 30 12 | 400 1 34 13 382 21 46 17 37.0 29 46 37.0 0 15 0.0
3 EE N - - - - - - - - - - - - - - - - - - - - - - - - - -
APEN - - - - - - - - - - - - - - - - - - - - . - . . - .
| 65 | | 40 1 9 2 4 15 7 46.7 19 6. 14 23 7 30.4 16 21 4 19.0 17 19 211 2 5 400
| 66 |55 | - 2 7 3 66.7 7 4. 6 - - - - - - - - - - - - -
| 67 (B & = kx| 30 1 10 6 10 0.0 16 6. 7 13 5| 385 8 15 3] 200 12 13 231 - - -
8 |F [ BT 1 5 5 7 71.4 14 . 9 8 1 125 7 5 0 0.0 5 4 0.0 0 1 0.0
|69 [ = 2 Bz - - - - - - - - - - - - - - - - - - - - E - E E - E
0 |18 B & - - - - - - - - - - - - - - - - - - E E
715 8 15 - - - - - - - - - - - - - - - - - - - - E - E E - E
2R B %X - - - - - - - - - - - - - - - - - - - - - - - - - -
73 |& A% IR - 9 4 444 5 5 1 20.0 4 4 2| 500 2 1 0 0.0 1 - - - - - - - - -
74 |#8 B 20 4 2| 500 2 7 2| 286 5 10 4 400 6 6 3| 500 3 7 0 0.0 7 7 0.0 1 2] 500
H [ 2197] 1456 986 | 67.7 470 | 1,307 880 | 673 427| 1,403 868 | 61.9 535 | 1,327 776 | 585 551 | 1,229 622 | 506 607 1130 550 637 1070 595






